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1. [10%)] Translate each the following terms into Chinese and explain it briefly:
1.1 Equation of State.
1.2 Isenthalpic Process.

2. [10%)] Which of the following statements are correct?
A. Flow in a well-designed compressor is revetsible.
B. Mixing of two cups of water at 20 °C and 40 °C is irreversible
C. Flow through an orifice is reversible.
D. Flow through a partially open valve is irreversible.

3. [10%] What equation or model will you use to calculate the liquid phase fugacity for a mixture of water, methanol and
formalin?

4. [20%] An ideal gas at 25°C and 2 bar is compressed adiabatically and reversibly to 20 bar in an compressor.
4.1 Estimate the outlet temperature.
4.2 Why the outlet temperature is much higher than the inlet temperature?
Note that:  S(T2,P2) - S(T1,P1) = Cp, In(To/Ty- R In(P/Py); C,=3.5R; R=8.314 J/mol/K for an ideal gas.
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Run number 1 12 3 4 5

r=Y, sec 0.423 5.10 13.5 44.0 192
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